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1. LEDE R R TRIR y-5-3%, 325x325mmA 3L, B FE &R = 1.0 £ V)24 5kp 1
I.EHE
BfRT (BEmr -1
1. EHEER EM-CE 3. 5sq-3c m 134. 4 L1=(5.0%2) +1. 2+1. 2+13. 6=26. 0 135
L2= (5. 0%2) +1. 2+1. 2+7. 6=20. 0
L3=(5. 0%2) +1. 2+1. 2+1. 8=14. 2
L4= (5. 0%2) +1. 2+1. 2+2. 7=15. 1
L5= (5. 0%2) +1. 2+1. 2+2. 3=14. 7
L6= (5. 0%2) +1. 2+1. 2+2. 3=14. 7
L7=(5.0%2) +1. 2+1. 2+2. 3=14. 7
L8=(5. 0%2) +1. 2+1. 2+2. 6=15.0
2. 5-7" MERE EM-CE 3.5sg-3c BT 8.0 L1~8 8
FRIRIET CHEmr -b
3. EHIACR EM-CE 3.5sg-3c m 157.9 L1=6. 5+6. 5+6. 5+11. 4=30. 9 158
L2=6. 5+5. 3+6. 5+5. 7=24. 0
L3=6. 5+5. 3+6. 5=18. 3
L4=6. 5+5. 3+4. 9=16. 7
L5=6. 5+5. 3+4. 9=16. 7
L6=6. 5+5. 3+4. 9=16. 7
L7=6. 5+5. 3+4. 9=16. 7
L8=6. 5+6. 5+4. 9=17. 9
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7v7°1 t -):1S10B-C EBBEAZR & :RP-70-1R & 9.0 2-1,2-5,4-1,4-2, 4-4 )
307" 2 t -):1S10B-C EEBAZRH :RP-100-2R & 1.0 4-3 1
A1 i -):1S12B-C BEBAZRH :RP-150-2M & 2.0 2-2,2-6 2
AfR2 i -):1812B-C BEBAZRH :RP-150-3M & 1.0 2-3 1
A HR3 i -):1S12B-C EEBAZR B :RP-200-4M & 5.0 1-1,1-4,1-5,1-8, 24 )
5 AW HFIES = 9.0 1-2,1-3, 1-7 &£2& 9
1-6 3&
6. B ERERBAKT I E t-h:8~12m HEBAZEE :HID & 14.0 2-1,2-5,4-1,4-2, 4-4 14
4-3
2-2,2-6
2-3
1-1,1-4,1-5,1-8, 24
1. AR BEE = 9.0 1-2,1-3, 1-71 &£2& 9
1-6 3&
8.293v7" An3E (GEEXEREAR -)) t 3.3 P10-21B 205kg % 6=1230kg 3
P12-23B 259kg x 8=2072kg
3302kg
9. R4 Bk CEREEREAT -)) B 2.0 4tE 2 2
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10. ¥l &Py - MBBAYE T |LEDYZ ¥ 28 (6, 000 Im) =) 40.0 5&*8L-Y 40
1. SFEEE (GRE) 19.7m H
12. $1 % Fry - BB BRI 2 [FSS8RP-321-PHH = 64.0 8&*8L-Y 64
13. SFEEE FE) 9. 7m H
14 LEDEXRTIRZE |V-7-=, 3256x325mm4 X F, EERT =) 1.0 £ Y24, 5kp 1
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g1 BBEAZS B (RP-150-2M =) 2.0 2-5,2-6 2
g2 BBAAZS B (RP-150-3M =) 2.0 2-1,2-10 2
A3 BEBEAZS B (RP-200-4M =) 4.0 2-2,2-3,2-8,2-9 4
2 EIREEHHIFERE FREAES & (HID = 8.0 -5, 2- 8
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AHR2 FEBAES B :RP-150-3M = 8.0 m2-1,2-2,2-9,2-10 8
Jk2-1,2-2,2-9,2-10
AHR3 R BRzs & (RP-200-4M a8 4.0 F2-3, 2-8 Jk2-3, 2-8 4
2 ERBAFERE EERER A (HID a8 16.0 F2-5, 2-6 Jk2-5,2-6 16
m2-1,2-2,2-9,2-10
Jk2-1,2-2,2-9,2-10
F2-3, 2-8 Jk2-3, 2-8




W = = | A~
HEFTES
5Z : GIkY), [EE&]
4. XEBRI1C _ _ i _
I8 = T & B |# B | ZTEHE = | B BRETET L
[ S EKE
1. LEDEX R TIR y-3-3%, 325x325mmd XX F, B E R R =) 1.0 T Y 12. 36kp 1
0. iEHE
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A1 FE ARS8 5 (RP-150-2M =) 4.0 m32-5, 2-6 3t3-5, 3-6 4
A2 B ARS8 5 :RP-150-3M =) 8.0 m2-1,2-2, 2-9, 2-10 8
4k3-1,3-2, 3-9, 3-10
A3 E AR 28 5 :RP-200-4M =) 4.0 m2-3, 2-8 Jt3-3,3-8 4
2 EREIHRERE BEBAZS B (HID =1 16.0 F2-5,2-6 Jk3-5,3-6 16
m2-1,2-2, 2-9, 2-10
4k3-1,3-2, 3-9, 3-10
m2-3, 2-8 Jt3-3, 3-8
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4. BEAREHET FLAO x 2 34 =i 8.0 — 8
EFfEEE 9. m =]
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AfR2 FEBA S8 B :RP-150-3M = 9.0 %£1(2-1,2-2,2-9,2-10) 9
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AR3 B BA 25 2 :RP-200-4M = 3.0 £1(2-3,2-8) %2 (2-8) 3
2 ERREREAAT L fRBAZR B (HID = 1.0 11307 1
JERREEEAREHE  |EEAZRE HID = 16.0 %1(2-5,2-6) 5F2(2-5,2-6) 16
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LEDEAR THRERBEHT 155Y)
IHH HEX #he |ERETETLE| B
Eal
V1 15%X15x%1.0= 2.25 2.3|m3
BER
V2 VI-(EEERAE+ER)= 1.55 1.6|/m3
E AR {K[0.9%0.9x009= 0.700 0.7|m3
»a 1.0x1.0= 1 1|m2
1.0x1.0x0.1= 0.1 0.1|m3
i
V3 {HiELER Vi-V2= 0.7 0.7|m3
®a
V4 1.0%1.0= 1 1{m2
a9y )—k
V5 0.9%x0.9x0.9= 0.7 0.7|m3
iy
Al 0.9%x0.09 X 4= 3.2 3.2|m2
Qa9 -bE#E
ELH#E0041)—0 | 18-8-40-60% (5 1FB)
ORAIRE
HERE RC-40




